E7E3

4l

_ . L 22LABAEN  bh 5558 Foh  @Fk

TLETZF U -0 BERTEICET 2 HEOHERZ L TVEI, =0nTV, the
announcer is talking about the result (outcome) of the survey (investigation, examination,
inquiry) regarding a mail order.

BIR 25 LARARWN n

B3 A, BERTZ *U%%éh?‘: ZEMN HDEITH, =Everybody, have you ever used a mail

oder before?
* FlJFH X 117z = <plain-style-past-affirmative> of #JF & 41 % 9" which is the passive-verb (be

used) or the deferential-verb ((superior) use) of FJFA L £ 9 g3 (use, utilize, put to practical use;
take advantage of) //

h HD EE
BW%Z 9 5Kd = when (X) shop + & <topic particle> /
*BH\\WI%Z 9% = <plain-style-nonpast-affirmative> of E\L\¥J(%Z) L £ 9 g3 = do shopping,

shop

* [plain-style (but, ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ becomes ‘no’.)]
& & =when (X) do (did, is doing, was doing, etc) ~ /

HE

JEIC = shop + IC <arrival particle> /

ToT. =f7%%9, LT, = goand ....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

bﬁ%id) % ¢ = with one’s own eyes /

%Ebb‘éf)’c ms Lh 2%1973\/\ = <plain-style-nonpast-affirmative> of EEMNH T NS UL BEWVVE

A = (X) buy only after he confirm

* M X g1 = confirm, ascertain, clarify, verify, check, make sure

* [te-form] D5 = after doing ~

* <L is always used with the negative, but the meaning of the whole sentence containing U
M is the affirmative in English. Example: nihin-go shika wakarimasen = | understand only

Japanese.>/
& <quotation particle> /
Ly

=2 7T Wk AH. =the person who was saying ~ + & (also)
— the person who was saying that when he shopped, he would buy the thing only after going to
the shop and checking it with his own eyes
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3L\‘\é‘/u
BT = recently, lately /

E3F>

C D7375% = this method (way) + % <direct-object particle> /

%‘fﬁé"@‘é &£ DIC & o T Zfc = started to reach the point where (X) use = <plain-style-past-
affirmative> of F|FH 9 2 &K S IC 78> T X9 = start to reach the point where (X) use

* FIF8 9 % = <plain-style-nonpast-affirmative> of FIJF L &9 g3 = use, utilize, put to practical

use; take advantage of)
* [dictionary-form] & S IC 7& D ¥ 9 = reach the point where (X) do ~

* [nai-form 75U\ — 72 <] 7% D £9 = reach the point where (X) don’t do ~
* [te-form] & E 9 = 1. go there to do .... and will be back

2. start to do, begin to do
3. (with the past tense,) have been doing ... so far
<279, =[plain-style] €> T =1hear that ~, | heard that ~ //

| hear that the people who said that when they shopped, they would buy the thing after going to
the shop and checking it with their own eyes also started to reach the point where they use this
method recently.

U S0 FEUp S

105 80 fKEXTD A = the people who are between in their teens and in their eighties
&/

/

.J%Eé%i Lfc &2 3. =(X) made a survey. And | tell you what happened (N2 No.90)
*$H&E % U7z = made a survey = <plain-style-past-affirmative> of & (%Z)L %9 g3

(investigate, examine, inquiry, make a survey)
* [ta-form] & Z % = (X) did ~. And | tell you what happened. //

)

FT

| made a survey of the people who are between in their teens and in their eighties. And | tell
you what happened. 8-

ML < T =Mt Ll Z2LT. =busyand..
* ‘[i-adjective]’ can be the plain-style-nonpast-affimative of ‘[i-adjective] T9".
* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used .

We call them te-form of an adjective and a noun. To join adjectives, we also use te-form of an
adjective. And it is sometimes used to show reason as well. te-form of an adjective and a noun
can be used in either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, ‘[stem of i-adjective] <’is also used to be more

formal. /
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A U A

i'éib\ IZ 17< K@M = the time when (X) go to buy + ' <subject particle> /

*B UL\ (T 1T7< = <plain-style-nonpast-affirmative> of E\\ [C TZ X9 = go to buy

* [masu-form] I T& X9 g1 =gotodo ~

* [masu-form] I k% 9 g3 = come to do ~

* [masu-form] IC & D £ 9 g1 = go back (return) to do ~ /

72\\; =don’t have = <plain-style-nonpast-negative> of % D £ 9 g1 (have, there is ~, exist) //

“l am busy, so | have no time to go to buy.”

B D h D
'HBR%E RH BHS o< hE&E BVWYH TZS, =1can do shopping slowly while drinking

tea
* [masu-form] 7&H5 = while doing ~ ; N2 No.144

* TZ& % = <plain-style-nonpast-affirmative> of T& &9 sg2 =1 can do, be abletodo 2 be
ready, be completed, be finished //

r%?;ﬁ_)(% %CT 7RHY5S. = while raising my child
*BTEY g2 =raise, bring up, rear /
%%t\‘( W% DT, =because (X) is working
* #)L\T L\ 3 = <plain-style-nonpast-affirmative> of &)L\ T L\EK 9 = be working now
*EBE £ 9 g1 =work
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>
* DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M T = because ~
* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style to be
more formal. /
%LEIBOJ@ELE IC = for one’s daily life /
< Tl 725780\ = <plain-style-nonpast-affirmative> of & < T & D £ A = mast have
* 7&\\ = <plain-style-nonpast-negative> of 35 D £3 g1 (there is ~, have, exist)

* must do ~, have to do ~

[nai-form 72U — R IFTNIE] D XHEA
[nai-form 7R WL\ = IR ITNIE] WIFREBA
[nai-form &2 W\ = IR IFNIX] F2HTT
[nai-form &L = IR T 2D TEA
[nai-form 72U = X< TR WIFREA
[nai-form 2L\ = Ix< TIK] 12HTT
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[nai-form 7&WLN = X< B » ] 2D XA
[nai-form 7&LN = A< B ] WIFXREA
[nai-form 7R W\ = 7R E» | EHTT
[nai-form 7&WN > RE ] XD XA
[nai-form 7&WLN = RE ] WIFXEA
[nai-form 7R\ = IR E | ZHTT
[nai-form &L = 1R E] WITFREBA
[nai-form 7RULN — 7R &) T2H TS /]

“Because | am working while raising my child, it is indispensable for my daily life.

7% & =etc.,and soon/

B PN . . ) .

%< @ BER»H' = many opinions + H' <subject particle> /
7z

HEnF U, = was taken out

* HE N3 =be taken out = passive-verb of i U £ 3 g1 (take out, put out)

EE 1] LE 1]

There were many opinions such as “~”, “~” and “~” (lit: Many opinions such as “~”, “~” and

‘~” were take out.)

25 LAFAEL 7RI 5458

BIEIRFED MICDWTDRHETI H. = What did they investigate about a mail order? &

"IO L S5ULPTS

F # = the number of users /

2

:En L|’:| LiwdL ]

BE2% @YD 1E$E = kinds of goods which they can buy

B 2 % = <plain-style-nonpast-affirmative> of EZ &9 (can buy, be able to buy) which is the
potential-verb of EWLNEX 9 g1 (buy) /

% & 5 %55\&5
F 7% = the method of use /
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P ) D>

FIFE9 % EH = the reason why they use

* FJF8 9 % = <plain-style-nonpast-affirmative> of FIJFE U £ 9 g1 (use, utilize, put to practical
use; take advantage of) /

BrZ D& BEZ V& Fhhh 1373

ZOANE BEOAN XEATFELT WET, =The woman and the man are talking at the
entranceway (entry hall).

F:
Liaé\l\o = YeS //

3. =Ah! (expression of surprise, recollection, etc.), Oh!/
ES5H ZAITEIF, = Good afternoon. Hi. Hello.
* £ 5% show the politeness of a greeting. /

M:
HD, Hhh. BFETIH, =Err (Well), mandarin orange, do you like it? //

fc< 2 h =alot, many /

H 5 o fc =received = <plain-style-past-affirmative> of £ 5LV &9 g1 (receive, get) /
AT, =less polite than DT ([plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)]
DT =because ~)

* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style to be

more formal.
LB UIFNnE, =if (X) is good,

* &3 UFNiE = conditional-form of & % U LY which is much polite than LYY (good, fine, all
right) //
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Because | got a lot of (mandarine oranges), if you would like to have it, (I will give you).

F:
FdH. =well, oh; dear me!, oh my! (expression of surprise, concern or consternation) /
&M Ao =mandarin orange. //

w9

KIFEFE 5. 2L Wo, =1love it, so | am happy (glad, pleasant).
* [na-adjective, noun] 72 = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] T9’ =is

(are, am)
* 1 = <used to show assertion, emotion or admiration, and used by a female> //

SVWEh eh
B =W D Ko = Itis expensive recently.

* D = A IZ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun]
da’ becomes ‘na’.)] A4 TY ' =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

— A, can be changed to @. /

&Ko =...., you know? ; ..... | tell you. ; ..... , | am convinced. //

M:
&KMo fco =was good = <plain-style-past-affirmative> of L\LNTF (be good)
— | am happy to hear that.

fcfe. =but/

5 &> & =alittle/

Ei*%o (¥ = sour, acid

* ‘li-adjective]’ can be the plain-style-nonpast-affimative of ‘[i-adjective] T3
ATY = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A TY =
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...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A can be changed to @. /

[7E. =1but 2 <used to show a hesitation>

HUL =if/
2> [£UL\D = sourness /
A

.
BEE Ue Bh-ok5. =if (X) don't like it
* [na-adjective / noun] Tld 72> fc + 5 =if (X) is not ~

* [na-adjective / noun] Tl 78D o 72 = <plain-style-past-negative> of ‘[na-adjective / noun] T3

~

YVa1—XIT TH LT Lf2EL\, =Please make ~ juice or something
* (A) Z [stem of i-adjective] < U X, (A) Z [stem of na-adjective] (C U X9 = make (A)

[adjective]
*(A) Z [noun] I UL X9 = make (A) [noun]

* [noun] [ U ¥ 9 = decide on [noun], choose [noun], order [noun]
* [noun] T% = [noun] or something //

But it is a bit sour, so if you don’t like sourness, please make it juice or something.

F:
2 —RA? =Juice? //

%«gj fc © @ = the thing which (X) squeezed

* & - f= = squeezed = <plain-style-past-affirmative> of ¥k D &9 g1 (squeeze) /
LT: <recipient particle> /

E\ L =alittle /

B#D
1% % = honey + % <direct-object particle> /

[

<h
10X % = <plain-style-nonpast-affirmative> of l1X £ 9 g2 = add /
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ATTY, =[plain-style (but, ‘da’ of ‘{na-adjective / noun] da’ becomes ‘na’.)] AL T9 =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A, can be changed to @. //

We add a little honey to the juice made by squeezing. 8-

Ry R TH EWLWTT K, =Evenifitis hot, it is delicious.

* [te-form] & =even if ~ //

ii_\ = oh, yes?, really?

WU %S = <plain-style-nonpast-affirmative> of &L\ U %> T = (X) looks delicious

* [masu-form / stem of i-adjective / stem of na-adjective] > T9 =it looks like that ~, (X) is
going to do ~ at any moment /

o =....,isn’tit? ; ....., am | right? <confirmation particle> /

Really? It looks delicious. (It sounds delicious.)

%ZOJUKLJ %%‘: L I 5{%% L7z A = For what purpose did the man come here?
* [masu-form] T%% F9 =gotodo ~

* [masu-form] (< %i@“ = come to do ~

* [masu-form] I '7}35'; N ¥ =return (go back) to do ~ //

HM A% BT 3 T =in order to give mandarin oranges
* 3T % = <plain-style-nonpast-affirmative> of & |7 & 9 g2 = give

* [plain-style (but, ‘da’ of {na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ becomes ‘no’.)]
e (IC) = 1 because ~, die to ~ <cause, reason>

2 in order to do ~, for (the benefit of) ~ <purpose> /

2
HMA%Z %% 18 = in order to sell mandarin oranges
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* 555 = <plain-style-nonpast-affirmative> of 55D &3 g1 = sell

* [plain-style (but, ‘da’ of [na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ becomes ‘no’.)]
e (IC) = 1 because ~, die to ~ <cause, reason>

2 in order to do ~, for (the benefit of) ~ <purpose>/

3

HhhZ>S W
HA O EEB%Z 5 =8 =in order to say the impressions of mandarin oranges
* & D = <plain-style-nonpast-affirmative> of L & 9 g1 = say

* [plain-style (but, ‘da’ of {na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ becomes ‘no’.)]
e (IC) = 1 because ~, die to ~ <cause, reason>

2 in order to do ~, for (the benefit of) ~ <purpose>/

4
2< e L

Va1—XD ED A% HZ 3 = =in order to teach how to make juice

* (A) @ [masu-form] Hfc = how to do (A), the way of doing (A)

* # X % = <plain-style-nonpast-affirmative> of 2 X £ 9 g2 = teach

* * [plain-style (but, ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of [noun] da’ becomes ‘no’.)]
e (IC) = 1 because ~, die to ~ <cause, reason>

2 in order to do ~, for (the benefit of) ~ <purpose> /

Kl
~

fa)

WL p
TLETEEN 1 VFE21—ICEZXTWET, =0nTV, the doctor is answering the interview.

F:

TAEWN

4. = Doctor, /

3L\‘\é‘/u

&I, = lately, recently /

35 &S Sofc

& (X<
BD &z sF X5 Ah' =the person who appeals the bad condition of eyes + H' <subject

particle>
* 2k 2 % = <plain-style-nonpast-affirmative> of 5§ X £ 9 g2 = appeal, resort, sue

3

2T W3 = <plain-style-nonpast-affirmative> of & X T L\£ 9 = be increasing now

* X £9 2 =increase

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
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& 2 TT = [plain-style (but, ‘da’ of [na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’
respectively)] & 3 T9 = (According my academic analysis, ) it looks like that ~, it seems that
~ < based on the subjective grounds> /

H =1but 2 <used to show a hesitation> //

Doctor, it looks like that the people who appeal the bad conditions of their eyes have been
increasing recently.

N Z

Z. €2 T9 1. =Yes,that’s right. //

FATEW

I, = at the present age, /

FTLE® XYY, ¥—LD LS3Ic. =such as (like) a TV program, a personal computer and
agame/

é’a’: %héﬁ% H D H' = the thing which makes your eyes get tired + H% <subject particle>

* NS % = <plain-style-nonpast-affirmative> of JE11 & £ 9 (make ~ get tired) which is
the causative-verb of J&11E 9 g2 (get tired, tire) /

fc< & A =alot, many /

% D £9 =there is ~, have, exist /

M5 = because ~ /

o =....,isN'tit? ; ....., am | right? <confirmation particle> //

There are many things which make your eyes get tired such a TV program, a computer and a
game at the present age.

;'?'Z LW M5, =because (X) is enjoyable (fun) /

2L\ = unintentionally, unconsciously, by mistake, against one's better judgement /

Elb%hf'a%% =time + % <direct-object particle> /

%h’( L £ 5 = <plain-style-nonpast-affirmative> of =41 T UEXL\E T =to one’s regret, (X)

forget
*ENEI g2 =forget

* [te-form] L EWLWEX 9 g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely
*~te shimaimasu— ~chaimasu
*~de shimaimasu— ~jaimasu/

10/29



AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A, can be changed to M. /

& =...., you know? ; ..... | tell you. ; ..... , | am convinced. /
o =....,isntit?; ....., am | right? <confirmation particle> //

Because they are fun, we forget time unconsciously.

TbH, =J)ut/

éﬂ) ?L%E%’& = health of eyes /

%ﬂ%htaﬁ\ = if (X) consider = conditional-form of & X £ 9 g2 = consider, think over /
TE25 MNED =as mucggg possible /

& Sl h
B 8O SV &JF = the life which doesn’t put a strain on one’s eyes, the life which

doesn’t tax the eyes
*EEMN HH S = (X) don't put a strain on ~ = <plain-style-nonpast-negative> of &3EH% H

MO ET9 g1 ((X) put a strain on ~)

* &%z MFET g2 = burden

* HY <subject particle> in the modifying sentence can be changed to @.
%Z <direct-object particle> /

9 % = <plain-style-nonpast-affirmative> of L& 9 g3 =do/

TLumnD
* 45E(Z) U £ 9 = live, support oneself
02&5

WEHY = necessity + HY <subject particle> /
H D XTI, =thereis ~, have, exist //

But, if you think about the health of your eyes, you need to lead the live which doesn’t put a
strain on your eyes.

%ﬁiti\ = for example /

NNY AV 7% 19%\5 Hb%bf'a%é" = the time when (X) use a personal computer
*{#> = <plain-style-nonpast-affirmative> of fEL\& 9" g1 = use /
R 3 = <plain-style-nonpast-affirmative> of ;2 £ 9 g2 = decide /
& H. = among other things, such things as, or something like that

11/29



"EL \ & Z % T =at the dark place /

A

EIH % = the screen (the fired in TV, the display) + Z <direct-object particle> /
2

'.I:D/\

3

R73\L\ = don’t see = <plain-style-nonpast-negative> of & &3 sg2 (see, watch, look) /
REL =(X) P (V) RE = (X) &M (Y) 12 &E = (X), (Y) and so on (, etc.) /

gé:{cﬁgb\B = on a routine basis, regularly, habitually /

’%% DIF3 Z & D =to be careful + H' <subject particle> /

* K% DI % = <plain-style-nonpast-affirmative> of %z 2|+ £ 9 g2 = be careful, pay

attention, take care
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

fewgo

KYITY, = (X)is important //

For example, it is important to be careful regularly by doing the things such as deciding how
long you use a personal computer and not watching the display at the dark place.

WL v 23249

ES={EN ﬂCD #=%x LT WEIH. =Whatis the doctor talking about? //

E D BREIC hhB H%Fsﬁ = the time which takes for treatment of eyes
* 75\75\%) = <pIa|n-style-nonpast-afflrmatlve> of ™MD I g1 =take (time), cost (money) /

A= [l Seh-A%

E D RED HEM = the necessity of examination of eyes
* #2 & = inspection, examination, act of looking over carefully and critically; investigation; scan,

survey /

4
[2) E>5EF>

BH%z rné@:a L\ 757% = the method that (X) don’t make his eyes get tired

*EN IR0 = don’'t make ~ get tired = <plain-style-nonpast-negative> of IR S X9

(make ~ get tired) which is the causative-verb of J&E11 X 9 g2 (get tired, tire) /
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BAIR V& L\

LIR—% =D ZDAIC BHICDWT E:ﬁb\’c LW&E 9, =The reporter is asking the woman about
vegetables.

M:

ZAICBE X, = Good afternoon. //

ZE5 O HIET = at this shop /
ZBE5 D is polite than Z D (this ~). /
& < =often, well /

P wn

ﬁx’& = vegetable /

Ebhé <plain-style-nonpast-affirmative> of E1011 & 9" = the passive-verb (be bought) or
the deferential-verb ((superior) buy) of EL\E 9 g1 (buy) /

AT =[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] A T9 =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A can be changed to . /

M = <question particle> //

Do you often buy vegetables at this shop?

HE PE W

D RBIED BFHIE ﬂik?b\ B\ ATY & =The taste of the vegetables at this shop is thick.

* [topic] wa [part of topic] ga [adjective] = <used to show the characteristics>
* ‘[i-adjective]’ can be the plain-style-nonpast-affimative of ‘[i-adjective] T9".

* AT = [plain-style (but, ‘da’ of {na-adjective / noun] da’ becomes ‘na’.)] AL T9 =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......
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— A can be changed to .
* Ko =...., you know? ; ..... | tell you. ; ....., | am convinced. //

%L\ %t = smell (odor, scent, stench, fragrance, aroma, perfume) + % (also) /

. =..,isntit?; ..... , am | right? <confirmation particle> /

ZD %‘3‘% 5 U LY = typical of that vegetable

* 5 UL L\ = [after a noun, adverb or adjective stem] -ish, like a ..., typical of ..., appropriate for ...,

becoming of ..., worthy of the name ...
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] 5 U \L\TJ =1 hear (heard)

that ~ and | think so too, It seems that ~ < based on the objective grounds>

L >MD & U e =firmly, tightly, reliable, level-headed, steady

* Itis derived from L > 5D (&) U &9 g3 (steady, fix, stabilize) /

%L\ M 9% = <plain-style-nonpast-affirmative> of €]\ H¥ U &9 g3 = smell /

D, = ATZ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘{na-adjective / noun]
da’ becomes ‘na’.)] A T9 ' =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

— A can be changed to @. //

Regarding a smell, it strongly smells like a typical vegetable of its own. 8-

ZD KN MD %L\ z M < = (X) smell this tomato

* W 7= K< = <plain-style-nonpast-affirmative> of £]\L\ %Z D%%“i? g1 =smell/

§> = ... and naturally (consequently) ~ /

FH#o tEic = when (X) was a child /

%HT = in the field (for vegetables, fruits, etc.)

T:Té')?\ =D XU, #ULT. =picked and ....

* D X9 g1 = adopt (measure, proposal), pick (fruit), assume (attitude)

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

=3
% (M5 T = at the right moment /
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o
MU o7z, =gnawed = <plain-style-past-affirmative> of & D & 9 g1 (chew, bite (at), gnaw,
nibble, munch, crunch) /

£ 579
Z DERF £ T = even that state (aspect, appearance) /
EokS) z

BULH I = <plain-style-nonpast-affirmative> of BUL\H U 9™ g1 = recall, remember /
ATY, =][plain-style (but, ‘da’ of {na-adjective / noun] da’ becomes ‘na’.)] A, T =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A can be changed to @. //

When | smell this tomato, | recall even the state that | picked it in the field and bit into it at the
right moment when | was a child.

M:

N Z. =0h, yes? Really? <used to show admiration>

Z2 7% ATY D =Isthatso? ;| see.

* AL C9, =][plain-style (but, ‘da’ of {na-adjective / noun] da’ becomes ‘na’.)] AL T9 =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A can be changed to @. //

F:
L

HEQ%H:\ = recently, lately /

Eﬁ% %ﬁ%@%b\ = peculiar (exceptional, unique) smells of vegetables

é;?b\ = among other things, such things as, or something like that

E?E?b“ = taste + H' <subject particle> /

% < = adverbial-form of &\ (think)

Bo>TWT, =17>T W&EYJ, £ULT. =be becoming now

* [stem of i-adjective] < 72D £ T ; [na-adjective] IC & D ¥9 = become [adjective]

* [noun] IC 7& D X9 =become [noun]

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
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;ﬁ’\“ P9 L) = <plain-style-nonpast-affirmative> of /X ¥4 L\ T = be easy to eat
* [masu-form] ¥ 9L\ T9 =be easytdo ~

* [masu-form] I < L\ T = be difficult (hard) to do ~ /

& <quotation particle> /

%\5 = <plain-style-nonpast-affirmative> of E\L\&E 9 g1 =think /

U)\t = person /

— the person who thinks that it is easy to eat

H =also/

L\% = <plain-style-nonpast-affirmative> of L& 9™ sg2 = there is ~, have, exist, stay /
hAhTL&LD =

[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;

...... , | want to emphasize ;

...... , | really want to say so ;

because ...... — A can be changed to .

+
[plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] TL & > =1 Probably ....... ,
2 , right? /

[7&E. =1but 2 <used to show a hesitation>
bfe

L
FAIT |& = for me, from the viewpoint of me + & <topic particle> /
5 & o> & =alittle

HD 1o
¥R D 72\\ = unsatisfied, unsatisfactory

ATTY, =[plain-style (but, ‘da’ of ‘{na-adjective / noun] da’ becomes ‘na’.)] AL T9 =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A, can be changed to M. //

Recently the peculiar smells of vegetables, the tastes of them or the things like that become thin
and probably there are the people who think that they are easy to eat, but | am not really

satisfied with it. &=

Th

Z M. = Regarding that point, /

HE PE W
2D BIED BFFHE(F = vegetables of this shop + (& <topic particle>
oML ES51FS

HIRHMS D AET = by means of the traditional method
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* B2 H'5 =the same as it was long ago, unchanged, traditional, since ancient times
f’l;EﬁrLT L\ % = <plain-style-nonpast-affirmative> of fE5 11T LWE 9 = be being making now
*fE5NE 9 =be made = passive-verb of fED £9 g1 (make) /

Z27T. =%27T9, £UT. =lhearthat ~and.....

* [plain-style] > T3 =1 hear that ~, | heard that ~, They say that ~, People say that ~

ﬁ% = taste + H(also) /

LUy = (X) is good

* ‘[i-adjective]’ can be the plain-style-nonpast-affimative of ‘[i-adjective] T9".

U. =|[plain-style] L. =~ and ~, because ~, ~ and what’t more ~, not only ~ but also ~
<often used to list reasons> Yt We can use the polite-style right before L to be more polite. /
%/ﬁf: = (X) is a relive (peace of mind)

Uo. =|[plain-style] L. =~ and ~, because ~, ~ and what’t more ~, not only ~ but also ~
<often used to list reasons> ¥¢ We can use the polite-style right before U to be more polite. //

Regarding that point, | hear that the vegetables of this shop are made with the traditional
method, and the taste is good and | feel relieved, so (I buy vegetables at this shop).

TH. quﬂzcﬁgb“ 5&0& %&D D £S5 TY 1, =Butitlooks like that the prices are a bit high.
* £S5 7T9 = [plain-style (but, ‘da’ of {na-adjective] da’ and ‘{noun] da’ becomes ‘na’ and ‘no’
respectively)] & 5 T9 = (According my academic analysis, ) it looks like that ~, it seems that
~ < based on the subjective grounds>

TH. =But/

<5 W5 %?%\5 LU %gﬁ% = a typical vegetable like this /

%LC %t = grandchild + I + © (also) /

BANEHE 72\ = <plain-style-nonpast-affirmative> of BN\ & 7z\L\T9 = want to make (a

person) eat
* BANEIEE T =make (a person) eat = causative-verb of B/NXEX 9 g2 (eat)

* [masu-form] 72LWT9 = want to do ~ /
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& <quotation particle> /

BH

B-o7T, =BW&XJ, £ULT. =lthinkand ....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
DL\ = unintentionally, unconsciously, by mistake, against one's better judgement /

;E‘C U £ 5 = <plain-style-nonpast-affirmative> of 8 T U £ UL\EX 9 =to one’s regret, (X) come
*3R¥E 9 g3 =come

* [te-form] L E WX 9 g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely

*~te shimaimasu— ~ chaimasu

*~de shimaimasu— ~jaimasu/

ATY, =][plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] A, T =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A can be changed to @. //

But | think that | want to let my grandchild eat typical vegetables like these, and | come here
unconsciously.

BARR V& PE W

FoRS)
ZDANIE. BFEICDWT £S5 B>T WEIH, =What does the woman think about
vegetables?

e=179

_l.J_/\;JEt(u . L Fh
et D A —ZF L\ = The fresh one is the best. /

2
WBIEA

hfthA g
BEEHY W\ H D HY —FF L) = The one whose price is cheap is the best. /

w

R HU b
L 2 BRAYEWV D HY LY = The one which has thick smell and taste is good.

5 R A

4
W) o<
BT E>7 D A W = The one which she made by herself is good.
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47
— N ‘E’i‘/ulﬂd) N Zh N 3 73,\2_ B
TLETHYN—FEFN G-Iz RDR>TELT WET, =0nTV, the soccer player

is talking while looking back on this season.
*IROIR-T =RDIRD FI, £LT. =look back (turn head, turn around, look over one's

shoulder) and .....
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well.

V=R %LC = before the season /

[Tz LT =18F&%Z L¥xULF, £LT. =gotinjuredand ....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
ifiﬁmiomgtimes used to show reason as well. /

Fii%Z 32|77z = underwent an operation = <plain-style-past-affirmative> of Fii%z 7 £ 9 g2

(undergo an operation) /

DT, = DT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M T = because
* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style to be
more formal./

%\AD—Z“ > & = this season + & <topic particle> /

95 & =1 consecutively, throughout, all the way, all the time 2 much [adjective] /

%%CC = recovery, recovering, recuperation + C <arrival particle> /

F%H‘C =MIFFR Lk, £LT. =turned towards and ....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well.

NL—Z=>7D %CEIB'C U fco =trained every day

* [noun] ® HHTY =do ~ every day //

Because | got injured before the season and underwent an operation, | trained myself ever day

all the time during this season in oder to recover. (with turning towards recovery). 8-

TLERE T=0nTV,etc., /

ANV MoP< IH e

HEY ZA/NILD SEET 5 X% = the figures that one’s mate and rival perform noticeably + %
<direct-object particle>
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* JEMEY % = <plain-style-nonpast-affirmative> of JEH# LU &9 g3 = play an active part, act
remarkably, perform noticeably /

%é = <plain-style-nonpast-affirmative> of R &9 sg2 = see, look, watch /

é:\ = and naturally (consequently) ..../

f£n » |’fEL/ L B\ T = because of impatience and regret

* 8 L L) = regrettable, mortifying, vexing

Wo W TUTes = (X) was full //

When | saw my mates and rivals act remarkably on TV, etc., | was full of feeling of impatient and
regret.

TH. =But/
%F%E’?E ;:IK/U’E technical book + % <direct-object particle> /
EJL,/UTL. D =read and do other things as well
* FtATZ = <plain-style-past-affirmative> of Ft &£ 9 g1 (read)
* [ta-form] D [ta-form] D U ¥ 9 =do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~ /
LT, =ULFUF, £2UT, =didand ....
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimecgaléged to show reason as well. /

N L —Z=>7"7%% = training method + %Z <direct-object particle> /

%OE%UE’; [C = objectively /

g\l—éi ZEHTEC =RET &b TEXR UKk, £UT. =could look again and ....

* BEY = <plain-style-nonpast-affirmative> of R E L ¥ 9 g1 = get a better opinion, look again
* [dictionary-form] Z &hY TZ X9 =can do ~, be able to do ~

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
ZN7RDIC =initself, as it is, in its own way, as suits the occasion /

w302
FELT WE U, =(X) was full
* 7852 L £ 9 g3 = be fullness (completion, perfection, substantiality, enrichment) //

But | read technical books and did other things as well, and could look again my training method

objectively, and had a full and enriching life in its own way. &=

Znlc. =and also, besides, moreover /
[0}
A L3D | = after a long time /
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%55’9('5&: ® = with my family members + © (also) /

Wwo7fch Ui E%JFE%% = a calm time + %Z <direct-object particle>

* b > D U Tz = calm, peaceful, tranquil; leisurely; loose, easy /

?%’D Z & H TEZX U =could hold (carry, possess, have)

* £ D = <plain-style-nonpast-affirmative> of 5 £ 9 g1 = hold, possess, carry /

U =[plain-style] L = ~ and ~, because ~, ~ and what’'t more ~, not only ~ but also ~
<often used to list reasons> ¢ We can use the polite-style right before L to be more polite. /
o =....,isN'tit? ; ....., am | right? <confirmation particle> //

And also | could enjoy a calm time with my family members after a long time, so (it was good
for me.)

ALy

Zh L
COEFRFSY—AVIF ESEolc & E2TWVWEI N, =According to this player, how was

this season?
* [na-adjective, noun] 7Z - fc = (X) was ~ = <plain-style-past-affirmative> of ‘[na-adjective,

noun] T9’=is (are, am)

U & W

-
AElIC Hongmn-fe h. WL Z&H & o7 = (He) couldn’t appear in the games, but good

things also happened.
* 5 n7ah o f= = couldn’t go out = <plain-style-past-megative> of i 511X 9 (can go out, be

able to go out) which is the potential-verb of tHZE 9 g2 (go out)
* 8 o fc = there was ~ = <plain-style-past-affirmative> of &6 D £3 g1 (there is ~, have,

exist) /

2
U & W

-
ABIC EESNT, LW Z &lF &b o fz = (He) couldn’t appear in the games and good thing

didn’t happen.
*H5NT = H5NAULT (without being able to go out) or 1 5.7 < T (cannot go out

and ...)
*H 5N E 9 =can go out, be able to go out = potential-verb of 1% 3 g2 (go out)

* [nai-form 72\ = 72 W T] = O [nai-form &L\ — 3" (IZ)] = without doing ~

Y LIBEWT =879 (I2), not LT (I2)

* [nai-form &L\ — 72 < T] = A [nai-form 2L\ — 9 (IZ)] = don’t do ~ and .... <used to join
sentences>/ don’t do ~ and therefore <used to show a reason>

Y LIBEWT =879 (I2), not LT (IT)/
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3

L& W T o<
AEIC Hic Y SEETE AN o fc = (He) appeared in the games, but he couldn’t act
remarkably.

* 7z = went out = <plain-style-past-affirmative> of tH & 9" g2 (go out)

* JERETE/3h o fz = could not act remarkably = <plain-style-past-negative> of SEEE CEZ X J
(can act remarkably, be able to act remarkably) which is the potential-verb of & U £ 3 g3 (act
remarkably) /

U & W FWCE

ABIC tE’C U%%Eb fc BTz o fc = (He) appeared in the games and had a full and enriching

life every day.
*HT =Hi, FLT. =wentoutand ....

* Hi7c = went out = <plain-style-past-affirmative> of 4 & 9™ g2 (go out)

* 785 U fz = full, complete, replete with, substantial (meal), solid (reading) /

* 12 o = = [na-adjective, noun] /2 o /= = (X) was ~ = <plain-style-past-affirmative> of ‘[na-
adjective, noun] T9’=is (are, am)

* [adjective] H T = have a [adjective] day every day

MWL BEZ V& BATE V& 1373

2T EDOANE TDOAN FELT WET, =The man and the woman are talking together in the
company.

M:
»FE
IWHZ A, B&2>& WWTI D, =Mrs Yamada, can you give a second? //

HWIE 373 B

HE
COE L FTLUW ED Z & =the thing about the new shop which | talked the other day
* 55 U fc = talked = <plain-style-nonpast-affirmative> of 55 U &£ 9 g1 (talk, speak) /
Z = [na-adjective, noun] /2 = <plain-style-nonpast-affirmative> of ‘{na-adjective, noun] T9’ =is

(are, am) /
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&, =1but 2 <used to show a hesitation> /

k%:tat\ = as a matter of fact, in fact, to tell the truth /

%% FID %EEC =E% 2D [ERIC 9% =make you a shop manager of that shop

* 9 % = <plain-style-nonpast-affirmative> of L &9 g3 =do

* (A) % [stem of i-adjective] < UL X T, (A) Z [stem of na-adjective] IC L ¥J = make (A)
[adjective]

*(A) %Z [noun] IC U ZE 9 = make (A) [noun]

* [noun] [ U E 9 = decide on [noun], choose [noun], order [noun]

EW 5‘%%75“ = the talk (story) which is ~ + %Z <direct-object particle>

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the
contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /

Hﬁ'.’(é = 1T L% = <plain-style-nonpast-affirmative> of 11T L\& 3" = be going out now, be
coming out now

* tH¥% 9 g2 = go out, come out

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
AT, = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] A T9 ' =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;

...... , | want to emphasize ;

...... , | really want to say so ;

because .....
— A can be changed to @. //

To tell the truth, they say that they want to make you a shop manager of that place.
(lit: the talk that they make you a shop manager of that place comes out.)

L

? =What? Really? (used to express surprise) //

INFETOD Tbiiét)“ = the work which (X) have done so far /

&< =highy/

%ﬁz{%é hT<T= %}iﬁén’c WT =FHlidh T W3, £LT. =be being evaluated
* Sl E 11T L3 = <plain-style-nonpast-affirmative> of ZFM S 11T LWEF = be being
evaluated

* S N E 9 = be evaluated = passive-verb of i U & 3" g3 (evaluate, value)
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* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
o =....,isntit?; ....., am | right? <confirmation particle> //

The work which you have done so far is highly evaluated by them, so ...

F:
HDMNESIMS 2T WET, =Thank you very much.

M:

Uw»&H. WLWHR, =Then, itis OK, | wonder?

* hVI& = [[plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] h\7/& = ...... , | wonder? //
ThZh

BREfIC L = transfer + IC + |& <topic particle> /

73 % = <plain-style-nonpast-affirmative> of 7& D £9 g1 = become

* [stem of i-adjective] < %D £ T ; [na-adjective] IC & D ¥J = become [adjective]
* [noun] IC 7& D £9 = become [noun] /

|7& =1but 2 <used to show a hesitation>

o =....,isntit? ; ....., am | right? <confirmation particle> /

You will be transferred to the new shop.

F:
H. HDS. =err,/

0 = by all means, certainly, without fail /
THET W E T2\L = <plain-style-nonpast-affirmative> of {THNE T W/ZE 1cWTT =

(X) let me go and | want to receive a favor from (X)
*1THEE 9 = make (a person) go = causative-verb of {TZ X9 g1 (go)

* [te-form] W/ 72 ZE £ 9 = (X) do ~ and | receive a favor from (X), | have (X) do ~
* [masu-form] 72W\WT9 = want to do ~ /
AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =

...... , | wonder ;
...... , | doubt ;
...... , | want to draw your attention ;
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...... , | want to emphasize ;
...... , | really want to say so ;
because ......

— A can be changed to @. /

HY. =1but 2 <used to show a hesitation>/
fcf2 =1but 2 merely, only 3 free of charge /
%%Jué: = transfer + & /

72D ¥9J =become/

& o =....and naturally (consequently) ..... /1

Errr, please let me go by all means (lit: you let me go and | want to receive a favor form you by
all means), butif | am transferred, .......

M:

h7? =Yes?//

F:

HD>S. =errm,/

Co

%= (d. = as a matter of fact, in fact, to tell the truth /
SVWEA

B, = recently, lately /

0) ?ZILSEEI%\ = my mother’s physical condition + A% <subject particle> /

é < 7& L\ = be not good = <plain-style-nonpast-negative> of L\ L\’C“@“(éb\?‘@“) (be good) /
DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® T = because ~

* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style to be

more formal. /

373& D =1 not very, not much 2 too much 3 remains, rest/

% < =far away, at a distance, by far, not nearby /

%&h% @ =to be separated from, being separated from

* BN % = <plain-style-nonpast-affirmative> of &#1 X 9 g2 = be separated from to leave to go

away to be a long way off
* Here ‘no’ is used to make a noun phrase (to change a verb to a noun).
|& <topic particle> /

LE&o&, =1alittle  21don’t think | can do that //

Errr, to tell the truth, my mother has not felt well recently, so being separated from her very far
away is not easy for me.
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M:
»h. €D, =0h, | see.
* Z 2 =<plain-style> of €5 T3 H, =Isee. Isthat so? //

TH. =but/
Tom< D FrRIEK, =ltis the chance which you hardly get. It is the long-awaited

chance.
* & > H < =with trouble, at great pains, long-awaited

* [na-adjective, noun] /2 = <plain-style-nonpast-affirmative> of ‘{na-adjective, noun] T9’ =is

(are, am)

* &Ko =...., you know? ; ..... | tell you. ; ....., | am convinced. //
F:

[EV, =Yes/

V&5h

il LT W/ef2\Wiz 2 & = the fact that (X) evaluated and | received a favor from (X)
* 2 LT LW/zf2Wic = (X) evaluated and | receive a favor from (X) = <plain-style-past-
affirmative> of i LT W/z/2E £ 9 ((X) evaluate and | receive a favor (X), | have (X)

evaluate)
* 31 L £ 9 g3 = evaluate, value

* [te-form] W/ 72 Z 9 = (X) do ~ and | receive a favor from (X), | have (X) do ~ /

\d <topic particle>/

9&% E%b LT =be very happy (glad) /

U. =[plain-style] L. =~ and ~, because ~, ~ and what't more ~, not only ~ but also ~
<often used to list reasons> ¢ We can use the polite-style right before L to be more polite. /
HU =if/

%EEC %> fc 5 =if (X) become a shop manager

* 7& o fc = <plain-style-past-affirmative> of 72D £J g1 (become)

* [stem of i-adjective] < 7D £ T ; [na-adjective] IC & D ¥J = become [adjective]

* [noun] IC 7& D ¥9 = become [noun]

* [plain-style-past] 5 = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell

you what happened /
P> T & fcL) Z & =the thing which (X) want to try to do, what (X) want to try to do

* 25T & T2 L) = <plain-style-nonpast-affirmative> of > > T & 7c\L\TJ = want to try to do
*PDFEI =1do 2 (superior) give (inferior)
* [te-form] & E 9 = try to do ~, do ~ and see how
* [masu-form] 7L\ T = want to do ~ /
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|& <topic particle> /

fc< & A =alot, many /

3 % = <plain-style-nonpast-affirmative> of 3% D £ 9 g1 (there is ~, have, exist) /
AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A, can be changed to @.

. =1but 2 <used to show a hesitation> //

Well, | am very happy that you highly evaluated me, and what’s more | have many things which
| want to try to do if | become a shop manager, but ....

X7z =again/

oF = AW

RO =< = at the next chance /

% hFT Wef2lF B = <plain-style-nonpast-affirmative> of A% T W2 IFET = (X)

call out to me and | can receive a favor from (X)
* @7z MMTET g2 = call out to someone, greet

* [te-form] W/ 7217 £ 9 ((X) do ~ and | can receive a favor from (X), | can have (X) do ~) =
the potential-verb of ‘[te-form] L\/z72Z £ 9 ((X) do ~ and | receive a favor from (X), | have (X)
do ~)"/

& S = [dictionary-from / nai-form] & 5 (IC) = so that (X) do / don’t do ~ <the potential-verb is
often used for this expression) /

NS

mEsR D £9, =do one’s best //

| will do my best so that you can bring this type of talk to me next time again. 8-
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~
P

M > fcs =understood = <plain-style-past-affirmative> of 73D &9 g1 (understand) //

BARR D& ThEA

Eok)
ZDOANF EEITDOVWT £5 B>T WEHIH, =What is the woman thinking about transfer
(job transfer, job relocation, intra-company transfer)? //

fcws &5

CUA ThZEA
AR BED 20 DT, EEL 7= < %2\ = Because she doesn’t have confidence in her

physical condition, she doesn’t want to be transferred.
* 7&L\ = don’t have = <plain-style-nonpast-negative> of & D £ g1 (there is ~, have, exist)

* DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M C = because ~
* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style to be

more formal.
* [masu-form] 7z < 7&\L\ = don’t want to do ~ = <plain-style-nonpast-negative> of {masu-form]

W T3’ (want to do ~) /

2
LA

=4~3 ThEA
BRSA DO & D DR DT, EEL < AL = Because she is worrying about her mother

she doesn’t want to be transferred.
* DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M T = because ~

* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style to be

more formal.
* [masu-form] 7= < 7&\L\ = don’t want to do ~ = <plain-style-nonpast-negative> of {masu-form]

72\ T3’ (want to do ~) /

3

ThZEA ThBE&5
FEEHLTH LW AL JERIC IE D /2<% = Itis OK for her to transfer, but she doesn’t want
to become a shop manager.

TAZEA

* BRI LT H L\ = <plain-style-nonpast-affirmative> of BEzE1LTH LWWTT =itis OK to

transfer, may transfer
* [te-form] H WLWWWTT =itis OK to do ~, may do ~

* [masu-form] 7z < 7% L) = don’t want to do ~ = <plain-style-nonpast-negative> of {masu-form]
fc\WT9’ (wanttodo ~)/

4
—C/_u_'é*_/u ThE&£5 2\* A~ 1E

BREL T, [EREUTHEKRD L) = She transfers, and she wants to do her best as a shop
manager.

*ERENLT. =889 5, £LT. =transferand ....
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* BR¥ 9 % = <plain-style-nonpast-affirmative> of #x£) L & 9" g3 = transfer
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well.
* [masu-form] 7z L\ = <plain-style-nonpast-affirmative> of {masu-form] 72\L\C39’ = want to do

~/
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